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1. Suppose a graph is drawn to show a consumer’s preferences for football tickets and basketball tickets.
The quantity of football tickets is measured on the horizontal axis. If the price-consumption curve is
horizontal when the price of football tickets changes, then
A) football tickets are an inferior good.

B) the demand for football tickets is perfectly elastic.
C) the demand for football tickets is unit elastic.

D) the demand curve for football tickets will be horizontal.

2. Sarah and David both have linear demand curves for lemonade. Sarah’s demand curve for lemonade
intersects David’s demand curve at a price of 50 cents per glass. Sarah’s demand curve is more inelastic
than David’s. A change in the price of lemonade from 50 cents to 25 cents per glass will
A) decrease Sarah’s consumer surplus more than David’s.

B) decrease David’s consumer surplus more than Sarah’s.
C) increase Sarah’s consumer surplus more than David’s.

D) increase David’s consumer surplus more than Sarah’s.

3. A small business owner eamns $5,000 in revenue annually. The explicit annual costs equal $3,000. The
owner could work for someone else and earn $2,500 annually. The owner’s business profit is
and the economic profit is
A) $2,000, $500 B) $2,000, -$500 C) $2,500, -$500 D) $4,500, -$500

4. The below figure shows supply and demand curves for apartment units in a large city. If the city
government passes a law that establishes $350 per month as the legal maximum rent, the consumer’s net
gain in surplus equals
Ayc—f B)b-f C)yd-f D)b-g

P

450
400

j
B B T

5. If the utility function (U) between food (F) and clothing (C) can be represented as U = FxC, the
marginal rate of substitution of clothing for food equals
A) -C/F B) -F/C C)-C/F D) - F/C
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6. Suppose the production possibilities for two countries, producing either food or clothing, are shown in
the below figure. They can each produce any linear combination as well. Measuring food on the
horizontal axis, the joint production possibility frontier
A) will have a slope of -3/4 over the entire frontier.

B) will have a slope of -2 when less than 20 units of food are produced.
C) will have a slope of -1 when less than 20 units of food are produced.
D) will have a slope of -1/2 when less than 20 units of food are produced.

Total Potential Output in Each Country
Using All Resources in One Industry

Usa Canada
Food 20 10
CloLhing 10 10

7. Which of the following total cost functions suggests the presence of a natural monopoly?
A)TC=2Q B) TC =100 +2Q
C) TC = 100 + 2Q* D) All of the above.

8. A perfect-price-discriminating monopoly's marginal revenue curve
A) lies below the demand curve.
B) is the demand curve.

C) varies for each consumer.

D) is the same as the monopolist’s marginal revenue curve.

9. A multimarket price discriminator sells its product in Florida for three times the price it sets in New
York. Assuming the firm faces the same constant marginal cost in each market and the price elasticity of
demand in New York is -2.0, the demand in Florida
A) has an elasticity of -6.0.

B) is more price elastic than the demand in New York.
C) has an elasticity of -1.2.
D) has an elasticity of -0.67.

10. The demand for a monopoly’s output is p =100—(. The firm’s production function is Q=2L.
Which of the following is the firm’s demand for labor?

A) w=200-8L B) w=200-4L C) w=100-L D) w=2EL

11. Bob invests $50 in an investment that has a 50% chance of being worth $100 and a 50% chance of being
worth $0. From this information we can conclude that Bob is NOT

A) risk loving B) risk neutral C) risk averse D) rational
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. A tax on a previously untaxed monopoly-produced good will necessarily lower total welfare if

A) the demand curve is relatively inelastic.
B) the demand curve is relatively elastic.
() less than the socially optimum is produced before the tax.

D) more than the socially optimum is produced before the tax.

If the Fed adopted an anticipated rule to slow the inflation rate, then the
A) long-run Phillips Curve shifts leftward.

B) long-run Phillips Curve shifts rightward.
C) short-run Phillips Curve shifts downward.
D) short-run Phillips Curve shifts upward.

The traditional monetarist prescription for a permanent decrease in aggregate demand is a

A) fixed rule that calls for budget deficits and increasing the growth rate of the quantity of money.

B) feedback rule that calls for budget deficits and increasing the growth rate of the quantity of money.
C) feedback rule that calls for budget surpluses and decreasing the growth rate of the quantity of money.
D) fixed rule that keeps constant taxes, government purchases and the growth rate of the quantity of

money.

A) A student who works part-time.
B) A person who is not working but who has tried to find a job in the past week.
C) A person who is waiting to start a new job in the next 30 days.

D) A person who is not working and who has not tried to find a job.

Which of the following will decrease the unemployment rate?

A) Discouraged workers leave the labor force.

B) More women enter the labor force and seek jobs.

C) Young people graduate from college and start to look for their first full-time job.

D) None of the above because they all increase or do not change the unemployment rate.

Andrew just lost his job as a corkscrew operator since his C(;mpany has found a machine to perform his
work tasks. Andrew did not have the skills needed to operate the machine. Andrew has searched for a
new job for 6 months and continues to search. Therefore, Andrew is considered to be

A) frictionally unemployed. B) a discouraged worker.

C) cyclically unemployed. D) structurally unemployed.

Full employment occurs when the

A) unemployment rate equals the natural rate of unemployment.

B) structural unemployment rate equals the frictional unemployment rate.
C) natural unemployment rate equals the frictional unemployment rate.

D) cyclical unemployment rate equals the natural rate of unemployment.
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Which of the following is (are) TRUE regarding the demand for labor?

I. The quantity of labor demanded depends on the real wage rate.

II. If the money wage rate increases and the price level remains the same, the quantity of labor demanded
decreases.

1. If the money wage rate and the price level increase in the same proportion, the quantity of labor
demanded decreases.

A)L B)Iand IL C) Il and I11. D) I, 11, and 1L

Suppose the equilibrium real wage is $35 per hour and the current real wage rises to $40 per hour while
the equilibrium real wage remains $35 per hour. Which of the following will occur?

I Job search will increase.

II. The unemployment rate will be greater than the natural rate of unemployment.

III. Labor productivity will increase.

A) Ionly. B) Iand II. C) I and II1. D) I, IT and IIL

From the data in the below table, GDP equals

A) $1,120 B) $1,280 C) $1,290 D) $1,360
Government purchases of goods and services $240
Depreciation 240
Gross private domestic investment 400
Personal income faxes 140
Net taxes = 120
Net exports of goods and services 80
Personal consumption expenditures 640
Net interest 100

If the Federal Reserve wanted to increase the quantity of money, it would
A) convince the federal government to run a budget deficit.

B) sell government securities in the open market.

C) purchase government securities in the open market.

D) tell the banks to lower interest rates.

Banks hold no excess reserves and the public holds no currency. Suppose that the required reserve ratio
is lowered from 20 percent to 10 percent. The effect of Jowering the required reserve ratio is to

A) decrease the deposit multiplier from 0.2 to 0.1

B) increase the deposit multiplier from 5 to 10

C) increase the deposit multiplier from 6 to 10

D) decrease the deposit multiplier from 0.16 to 0.1
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24. In the below table, C is consumption expenditure, [ is investment, G is government purchases, X i8
exports, and M is imports. All enfries are in dollars, What is the equilibrium expenditure?

A) $200 B)$500  C)$700  D)$1,000
Real GDP ¢ I G X M
100 75 | 25 | 95 | ip | 1
200 501 25 | 5 | 10 | 2
i 300 25 | 25 | 95 | 10 | 3
400 300 | 25 | 95 | 10 | 4

500 375 | 25 | 95 | 10 | 5

600 450 | 25 | 95 | 10 | 6

700 s25 | 25 | 95 | 10 | 7

800 &0 | 2 | &5 | 10| 8
%0 | 675 | 25 | 95 | 10 | o
1000 750 | 25 | 95 | 10 | 10

25. When the real interest rate rises, which of the following is true?
A) Consumption and planned investment spending rise.
B) Consumption and planned investment spending fall.
C) Consumption spending rises while planned investment spending falls.

D) Consumption spending falls while planned investment spending rises.

Py FHROTE » /INESSY - 82553 - TR RERIARHORE B RIE SRR R -

1. Suppose NSYSU Car Motors has the following demand for its automobiles: P = 20,000-Q
The downstream division’s cost of assembling cars is C,(Q)=8000Q . The upstream division’s
cost of producing engines is C,(Q,) =20,

(1) Suppose there is no outside market for the engines. How many engines and cars should the
firm produce? What should be the transfer price for engines?

(2) Suppose that engines can be bought or sold for $6,000 in an outside competitive market. How
many engines and cars should the firm produce? What should be the transfer price for
engines?

(3) Suppose NSYSU Car Motors is the only producer of those engines but can sell them in an
outside market. Demand in the outside marketis £, ,, =10,000-Q, . How many engines and

cars should the firm produce? What should be the transfer price for engines?

2. The demand for money in a country is given by M*=10,000-10,0007+Y, where M? is
money demand in dollars, » is the interest rate (a 10 percent interest rate means » =0.1), and

Y is national income. Assume Y is initially 5,000, and the money supply ( M*) is set by the
Central Bank at $10,000.

(1) Suppose income rises from Y= 5,000 to Y= 7,500. What happens to the equilibrium interest
rate if the Central Bank does not change the supply of money?

(2) If the Central Bank wants to keep the equilibrium interest rate at the same value as it was in
Y=5,000, by how much should it increase or decrease the supply of money, given the new
level of national income?
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1. If the price of one good increases while the price of the other good and the consumer’s income remain
unchanged, what will happen to the budget line?
A) The budget line shifts inward without a change in slope.
B) The budget line rotates outward from the intercept on the axis of the good that did not change in
price.
C) The budget line rotates inward from the intercept on the axis of the good that did not change in price.

D) The budget line shifts outward without a change in slope.

2. A perfect price discriminating equilibrium maximizes
A) consumer surplus.
B) the associated deadweight loss.
C) the market inefficiency.
D) total welfare.

3. Clifford lives by the motto “Eat, dnink and be merry today, for tomorrow doesn’t matter.” If today's
consumption is measured on the horizontal axis and tomorrow’s consumption is measured on the vertical
axis, Clifford’s indifference curves
A) are horizontal straight lines.

B) are vertical straight lines.
C) show decreasing utility as one moves upward.

D) cannot be determined from the information given.

4. The below figure shows Larry's indifference map and budget lines for ham and pork. Which of the
following statements is TRUE?
A) Larry’s Engel curve for pork will be upward sloping.
B) Larry’s Engel curve for pork will be downward sloping.
C) Larry’s Engel curve for pork will be backward bending.

D) Larry’s Engel curve for pork cannot be derived from the information provided.

Ham

Pork
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At an output level of 100 a monopolist faces MC=15 and MR=17. At output level g=101 the monopolists
MC=16 and MR=15. To maximize profits the firm
A) should produce 100 units. B) should produce 101 units.

C) cannot maximize profits. D) is not a monopoly.

If the inverse demand curve a monopoly faces is p=100—20, and MC is constant at 16, then the
deadweight loss from monopoly equals
A) $21 B) $1,764 C)$882 D) $441

If consumers are identical, then

A) price discrimination is impossible.

B) price discrimination can occur if each consumer has a downward-sloping demand curve for the
product.

C) perfect price discrimination is the only form of price discrimination that can increase a monopoly’s
profit.

D) tie-in sales cannot increase a monopoly’s profit.

Quantity discrimination makes sense if

A) buyers of smaller quantities are more price sensitive than buyers of larger quantities.
B) buyers of smaller quantities are less price sensitive than buyers of larger quantities.
C) demand for the good is perfectly elastic.

D) the lower price for larger quantities encourages all consumers to purchase the larger quantity.

Perfect competition and monopolistic competition are similar in that firms in both types of market
structure will :

A) act as price takers.

B) produce a level of output where price equals marginal cost.

C) earn zero profit in the long run.

D) act as price setters.

The concept of Nash equilibrium states that

A) no firm can improve their outcome holding the other firm’s actions constant
B) all firms are earning the highest possible profit

C) firms make alternating output decisions

D) none of the above

A lottery game pays $500 with .001 probability and $0 otherwise. The variance of the payout is
A)15.8 B) 249.50 C) 249.75 D) 499

Suppose two Cournot duopolist firms operate at zero marginal cost. The market demand is p=a—bQ,
0=4,+4,, g,and ¢, are firm 1 and firm 2’s quantity respectively. Firm 1’s best-response function is
A) ¢,=(2a-bq,)/2b B) ¢, =(a—2bg,)/b

C) q,=(a~bg,)/2b D) g, =(aq,)/2b
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13. If fair insurance is offered to a risk-averse person, she will
A) not buy any insurance since the marginal utility of the amount of the payment is positive.

B) not buy any insurance because it is overpriced.
C) buy enough insurance to eliminate all risk.

D) buy enough insurance to cover about half of the possible loss.

14. According to Keynesian theory, when real GDP is
A) either above or below potential GDP, prices and wages change rapidly, and return the economy to full
employment.
B) above potential GDP, prices and wages rise very slowly, and return the economy to full employment.
C) below potential GDP, prices and wages rise very slowly, and return the economy to full employment.

D) None of the above answers are correct.

15. Which of the following people is NOT considered unemployed in the Current Population Survey?
A) The person has just finished school and has entered the labor force to look for work.

B) The person has been laid off and is looking for a new job.
C) The person is looking for work after not doing so for a time.

D) The person is discouraged about finding a job and so does not search for work.

16. If national saving (S) is $100,000, net taxes (7) equal $100,000 and government purchases of goods and
services (G) are $25,000, how much are households and businesses saving?
A) $25,000 B) $225,000 C) -$25,000 D) None of the above.

17. Which of the following is a stock variable?
A) Income B) Depreciation C) Investment D) Capital

18. Structural unemployment is the result of
A) technological change or foreign competition.

B) normal labor market turnover.
C) a slowdown in the rate of economic expansion.

D) irresponsible workers with poor work habits.

19. Which of the following does NOT shift the aggregate demand curve?
A) A decrease in the money supply.

B) An increase in the price level.
C) An increase in investment.
D) A decrease in taxes.

20. All of the following contribute to raising real wages over time EXCEPT
A) technological progress.

B) rising labor force participation.
C) physical capital accumulation.

D) human capital accumulation
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21. All of the following are included in gross private domestic investment expenditure EXCEPT a
A) business’s purchase of a fleet of cars.

B) household’s purchase of a new house.
C) a retail store’s purchase of shoes to add to its inventory.

D) business’s purchase of another company’s stock.

22. Read the two statements below and indicate if they are true or false.
I. Autonomous expenditures change when GDP changes.

II. Aggregate planned expenditure is the sum of planned consumption expenditure, investment,
government purchases, and net exports.
A) I and II are both true. B) I and II are both false.
C) I is false and II is true. D) I is true and II is false
23. In the below table, C is consumption expenditure, / is investment, G is government purchases, X is

exports, and M is imports. All entries are in dollars. If investment were to increase by $26 to a level of
$51 then equilibrium expenditure will

A) increase by $25 B) increase by $100
C) decrease by §50 D) decrease by $100.
Real GDP C l G X M

100 75 25 95 10 1
200 150 25 95 10 2
300 225 25 95 10 3
400 300 25 95 10 4
500 375 25 95 10 3
600 450 25 95 10 6
700 325 25 95 10 7
800 600 25 95 10 8
900 675 25 95 10 9
1000 750 25 95 10 10

24. Which of the following changes would reduce the value of the deposit multiplier?
A) The public decides to hold less currency and more deposits.

B) The public decides to hold more currency and fewer deposits.
C) Banks decide to hold lower excess reserves.

D) The required reserve ratio falls.

25. To raise the interest rate, the FED should do which of the following?
A) Buy government bonds from public

B) Raise the discount rate
C) Reduce reserve requirements
D) None of above
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1. Richard receives government transfer payments and currently consumes five guns and six goose livers.
Assume the price of guns decreases by 10% and the price of goose liver increases by 20%. The
government raises Richard’s transfer payments so he can still afford five guns and six goose Ii{rers. Does
this constitute a true cost-of-living adjustment?

A) Yes. The payment just achieves the right level of compensation.
B) Not enough information.

C) No. Richard is overcompensated.

D) No. Richard is undercompensated.

2. Consider the following two situations.
(i) You purchase a $10 movie ticket in advance over the Internet, but when arriving at the theater, you
realize that you lost the ticket. The only way to see the movie is to purchase a new ticket.
(ii) On the way to seeing a movie, you drop a $10 bill. You still can afford the movie, but you have lost the
$10.
How should you, rational person, respond to the two situations?
A) You should still see the movie in both situations
B) In each situation, you should not see the movie.
C) In the first situation, you should skip the movie; in the second, you should still see the movie.
D) You should respond the same way to each situation, whether it is to see the movie or not

3. A small business owner eamns $5,000 in revenue annually. The explicit annual costs equal $3,000. The
owner could work for someone else and earn $2,500 annually. The owner’s business profit is
and the economic profit is "
A) $2,000, $500 B) $2,000, -$500 C) $2,500, -$500 D) $4,500, -$500

4. If the utility function (U) between food (F) and clothing (C) can be represented as U = FxC, the
marginal rate of substitution of clothing for food equals
A) -C/F B) -F/C C)-CF D) - F/C

5. The below figure shows the demand and cost curves facing a monopoly. If the firm is a profit maximizer,

its Lerner Index will equal
A)1/3 B) 1 15 D)3
D
400+
3004
200 MC = AC
100
D
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6. The below figure shows the reaction functions for two pizza shops in a small isolated down. The
Stackelberg leader will produce

A) 25 pizzas B) 50 pizzas C) 66.7 pizzas D) 100 pizzas
Q4
200+ B's best response

d
A's best response

G

7. Which of the following total cost functions suggests the presence of a natural monopoly?
A)TC=2Q B) TC = 100 +2Q
C) TC=100+2Q* D) All of the above.

8. A perfect-price-discriminating monopoly's marginal revenue curve
A) lies below the demand curve.
B) is the demand curve.
C) varies for each consumer.

D) is the same as the monopolist’s marginal revenue curve.

9. A multimarket price discriminator sells its product in Florida for three times the price it sets in New
York. Assuming the firm faces the same constant marginal cost in each market and the price elasticity of
demand in New York is -2.0, the demand in Florida
A) has an elasticity of -6.0.

B) is more price elastic than the demand in New York.
C) has an elasticity of -1.2.
D) has an elasticity of -0.67.

10. The demand for a monopoly’s output is p =100—. The firm’s production function is Q=2L.
Which of the following is the firm’s demand for labor?

A) w=200-8L B) w=200-4L C) w=100-L D) w=2L

11. Bob invests $50 in an investment that has a 50% chance of being worth $100 and a 50% chance of being
worth $0. From this information we can conclude that Bob is NOT
A) risk loving B) risk neutral C) risk averse D) rational

12. In the automobile insurance market, adverse selection occurs when
A) drivers with greater risks buy a policy with large deductibles.
B) uninsured drivers drive recklessly.
C) drivers with greater risks buy a policy with no deductibles.
D) insured drivers drive recklessly.
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. The Keynesian activist prescription for a permanent decrease in aggregate demand is a

A) fixed rule that calls for budget deficits and increasing the growth rate of the quantity of money.

B) feedback rule that calls for budget surpluses and decreasing the growth rate of the quantity of money.
C) feedback rule that calls for budget deficits and increasing the growth rate of the quantity of money.
D) fixed rule that keeps constant taxes, government purchases and the growth rate of the quaﬁtity of

money.

Which of the following is a flow variable?
A) Capital. B) The money in your pocket.

C) Wealth. D) Gross domestic product.

Which of the following is NOT considered to be in the labor force?
A) A student who works part-time.

B) A person who is not working but who has tried to find a job in the past week.
C) A person who is waiting to start a new job in the next 30 days.

D) A person who is not working and who has not tried to find a job.

Which of the following will decrease the unemployment rate?
A) Discouraged workers leave the labor force.

B) More women enter the labor force and seek jobs.

C) Young people graduate from college and start to look for their first full-time job.

D) None of the above because they all increase or do not change the unemployment rate.

Andrew just lost his job as a corkscrew operator since his company has found a machine to perform his

work tasks. Andrew did not have the skills needed to operate the machine. Andrew has searched for a
new job for 6 months and continues to search. Therefore, Andrew is considered to be

A) frictionally unemployed. B) a discouraged worker.

C) cyclically unemployed. D) structurally unemployed.

The below table shows answers given by people interviewed in a government survey of households.
Which individuals are considered unemployed?

A)1,2,and 3 B)2,3,and 4 C)1,3,and 4. D) 3 and 4.

Person | Now that the kids are in school for a full day, this person is looking for

work and has interviewed for three jobs during the past two weeks.

Person 2 This person has been laid off from a job but expects to be called back as

soon as the economy improves.

Person 3 This person has just graduated from college and will start a new job in
three weeks. In the meantime this person will tour the great American

beaches.

Person 4 This person was laid off last year when new equipment was installed at
the plant, reducing the number of workers needed. Shortly after being

laid off, this person looked for a new job, was unable to find one, and

then stopped looking for work.

2R [eFAHEHETHEFE] 25 A 85 X8



Pt BEZH[oF4BELHTHERM]
[

19

20.

2

22,

23,

24,

23,

Full employment occurs when the

A) structural unemployment rate equals the frictional unemployment rate.
B) unemployment rate equals the natural rate of unemployment.

C) natural unemployment rate equals the frictional unemployment rate.

D) cyclical unemployment rate equals the natural rate of unemployment.

Which of the following is (are) TRUE regarding the demand for labor?

I. The quantity of labor demanded depends on the real wage rate.

II. If the money wage rate increases and the price level remains the same, the quantity of labor demanded
decreases.

III. If the money wage rate and the price level increase in the same proportion, the quantity of labor
demanded decreases.

A)L B) I and IL. C) O and 111 D) I, II, and IIL.

If the Federal Reserve wanted to increase the quantity of money, it would
A) convince the federal government to run a budget deficit.

B) sell government securities in the open market.

C) tell the banks to lower interest rates.

D) purchase government securities in the open market.

The quantity of money people want to hold increases if
A) the price level falls.

B) the interest rate rises.

C) real GDP increases.

D) All of the above answers are correct.

Banks hold no excess reserves and the public holds no currency. Suppose that the required reserve ratio
is lowered from 20 percent to 10 percent. The effect of lowering the required reserve ratio is to

A) decrease the deposit multiplier from 0.2 to 0.1

B) increase the deposit multiplier from 5 to 10

C) increase the deposit multiplier from 6 to 10

D) decrease the deposit multiplier from 0.16 to 0.1

A decrease in government purchases due to Congressional budget cuts will cause
A) AD curve shifts right

B) AD curve shifts left

C) AS curve shifts right

D) AS curve shifts left

Suppose the equilibrium real wage is $35 per hour and the current real wage rises to $40 per hour while
the equilibrium real wage remains $35 per hour. Which of the following will occur?

1. Job search will increase.

II. The unemployment rate will be greater than the natural rate of unemployment.

III. Labor productivity will increase.

A) I only. B) I and II. C) I and III. D) I, IT and III.

25 awdn
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1. Suppose in PC market, there are 10 consumers and S producers. Every consumer has the same
individual demand curve: ¢, =1-0.2p, and every producer has the same supply curve:
g, =0.4+0.4p. Please answer the following questions.

(1) Derive the market demand and supply curve.
(2) In equilibrium, what is the market price and quantity demanded? Calculate the total consumer
surplus.

2. Aneconomy is described by the following equations and assumptions.

Consumption function C=3,000+0.8(Y —7)—20,000r, r is real interest rate, expressed as a

decimal.

Planned investment function: 7° =2,000— 20,000~

Government purchase(G) G = 2,100

Export(EX) £X =200

Import(IM) IM = 500

Tax T7=3.500

Current inflation rate 7 = 0.05

Desired reserve-deposit ratio = 0.25

Money demand function M“ =4,000—2,000¢, i is nominal interest rate, expressed as a

decimal.

Assume people hold money in the form of deposit.

Current bank reserves = 500

Potential output Y" =8,500

According to the above data, answer the following questions.

(1) Find the short-run equilibrium output; show it in a Keynesian cross diagram. Does there
exists any recessionary gap or expansionary gap? How much is the gap?

(2) How can the government adjust (i) G and (ii) T (fiscal policy) to eliminate the output gap? If
the government wants to (iii) balance its budget while eliminating the output gap, how can it
do?

(3) If the nation’s central bank wants to eliminate the output gap, it can (i) use open market

operation; (ii) adjust desired reserve-deposit ratio, how can it do to eliminate the output gap.
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The below figure shows the cost curves for a typical firm in a market and three possible market supply
curves. If there are 100 identical firms, the market supply curve is best represented by
A) curve A. B) curve B.

C) curve C. D) either curve A or B, but definitely not C.
—

Firm A

28 28 - /
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10 104
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A monopoly incurs a marginal cost of $1 for each unit produced. If the price elasticity of demand equals
-2.0, the monopoly maximizes profit by charging a price of
A) $1 B) $1.50 C) 83 D) $2

If the price of one good increases while the price of the other good and the consumer’s income remain

unchanged, what will happen to the budget line?

A) The budget line rotates outward from the intercept on the axis of the good that did not change in
price.

B) The budget line rotates inward from the intercept on the axis of the good that did not change in price.

C) The budget line shifts inward without a change in slope.

D) The budget line shifts outward without a change in slope.

The Compensating Variation for an increase in the price of a good is

A) the minimum amount of money a consumer would accept to voluntarily accept the price increase
B) the maximum amount of money a consumer would pay to avoid the price increase

C) the change in consumer surplus resulting from a price increase

D) the change in utility resulting from the increase in price

At an output level of 100 a monopolist faces MC=15 and MR=17. At output level =101 the monopolists
MC=16 and MR=15. To maximize profits the firm

A) should produce 100 units. B) should produce 101 units.

C) cannot maximize profits. D) is not a monopoly.
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A perfect price discriminating equilibrium maximizes
A) consumer surplus.

B) the associated deadweight loss.

C) the market inefficiency.

D) total welfare.

If the inverse demand curve a monopoly faces is p =100—20, and MC is constant at 16, then the
deadweight loss from monopoly equals
A) $21 B) $441 C) $882 D) $1,764

If consumers are identical, then

A) price discrimination is impossible.

B) price discrimination can occur if each consumer has a downward-sloping demand curve for the
product.

C) perfect price discrimination is the only form of price discrimination that can increase a monopoly’s
profit.

D) tie-in sales cannot increase a monopoly’s profit.

Perfect competition and monopolistic competition are similar in that firms in both types of market
structure will

A) act as price takers.

B) produce a level of output where price equals marginal cost.

C) earn zero profit in the long run.

D) act as price setters.

The concept of Nash equilibrium for firms’ competition states that

A) no firm can improve their outcome holding the other firm’s actions constant
B) all firms are earning the highest possible profit

C) firms make alternating output decisions

D) none of the above

In the short run, a competitive firm has a marginal product of labor, MP, = 5L° . The output price is
$10 per unit and the wage is $7 per hour. The short-run labor demand curve for the firm is
A S B) 5I°° s W ) D) 350"

Quantity discrimination makes sense if

A) buyers of smaller quantities are more price sensitive than buyers of larger quantities.
B) demand for the good is perfectly elastic.

C) buyers of smaller quantities are less price sensitive than buyers of larger quantities.

D) the lower price for larger quantities encourages all consumers to purchase the larger quantity.

2T [o%4mETHFHETEA] 2Hhaw2a
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13. The below figure shows the marginal benefit from pollution for two firms, If each firm receives a
marketable permit to produce 25 units of pollution, which one of the following is most likely to happen?

A) Firm A will produce all 50 units of pollution.
B) Firm A will sell some pollution rights to firm B.
C) Firm B will sell some pollution rights to firm A.

D) Both firms will produce 25 units of pollution.

19
[~ wen
é h
r
22 3740 1318
Tons of Tons of
pollution pellution

14. Which of the following people is NOT considered unemployed in the Current Population Survey?
A) The person has just finished school and has entered the labor force to look for work.
B) The person has been laid off and is looking for a new job.
C) The person is looking for work after not doing so for a time.

D) The person is discouraged about finding a job and so does not search for work.

15. Which of the following is a stock variable?
A) Income B) Depreciation C) Investment D) Capital

16. If national saving (S) is $100,000, net taxes (7) equal $100,000 and government purchases of goods and
services () are $25,000, how much are households and businesses saving?
A) $25,000 B) $225,000 C)-$25,000 D) Nore of the above.

17. Read the two statements below and indicate if they are true or false.
I. Autonomous expenditures change when GDP changes.
II. Aggregate planned expenditure is the sum of planned consumption expenditure, investment,
government purchases, and net exports.
A) I and II are both true. B) I and II are both false.
C) L is true and 11 is false D) L is false and II is true.

18. Which of the following does NOT shift the aggregate demand curve?
A) An increase in the price level.
B) An increase in investment.
C) A decrease in the money supply.

D) A decrease in taxes.
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19. There is a permanent decrease in aggregate demand. A monetarist would

A) increase the quantity of money in order to decrease the interest rate and offset the decrease in
aggregate demand.

B) maintain constant growth of the quantity of money and wait for the money wage rate to fall, and the
short-run aggregate supply curve to shift rightward.

C) maintain constant growth of the quantity of money but at a higher level than previously in order to
offset the decrease in aggregate demand.

D) maintain constant growth of the quantity of money and call on Congress to cut the tax rate and

increase government spending on goods and services.

20. Which of the following most likely would decrease frictional unemployment?
A) An increase in the number of high school and college graduates.
B) Effective Internet-based employment services and job registries.
C) An expansion of unemployment compensation benefits.

D) All of the above would decrease frictional unemployment.

21. The below table shows answers given by people interviewed in a government survey of households.
Which individuals are considered to be a part of the labor force?
A)3and 4 B)2,3,and 4 C)1,3,and 4 D)1,2,and 3

Person 1 Now that the kids are in school for a full day, this person is looking for

work and has interviewed for three jobs during the past two weeks.

Person 2 This person has been laid off from a job but expects to be called back as

soon as the economy improves.

Person 3 This person has just graduated from college and will start a new job in
three weeks. In the meantime this person will tour the great American

beaches.

Person 4 This person was laid off last year when new equipment was installed at
the plant, reducing the number of workers needed. Shortly after being

laid off, this person looked for a new job, was unable to find one, and

then stopped looking for work.

22. Which of the following changes would reduce the value of the deposit multiplier?
A) The public decides to hold less currency and more deposits.
B) Banks decide to hold lower excess reserves.
C) The public decides to hold more currency and fewer deposits.

D) The required reserve ratio falls.

23. All of the following contribute to raising real wages over time EXCEPT
A) technological progress.
B) rising labor force participation.
C) physical capital accumulation.

D) human capital accumulation



# 8

BHP2T [o%aELETrrT ) 25 A5 ®

24. All of the following are included in gross private domestic investment expenditure EXCEPT a
A) business’s purchase of a fleet of cars.
B) business’s purchase of another company’s stock.
C) household’s purchase of a new house.

D) a retail store’s purchase of shoes to add to its inventory.

25. Suppose the money market has an equilibrium interest rate of 10 percent. If the actual interest were 8
percent, the quantity of money demanded would be greater than the quantity of money supplied. Which
of the following would bring the money market back to equilibrium?

A) People buy bonds, the price of bonds rises and the interest rate rises.
B) People sell bonds, the price of bonds falls and the interest rate rises.
C) People sell bonds, the price of bonds rises and the interest rate rises.

D) People buy bonds, the price of bonds falls and the interest rate rises.

EEMn BRI » /INESSY 0 38250 - R RERIRLIREOAS I REIE SR A T B
1. A lemon-growing cartel consists of 4 orchards. Their total cost functions are

TC, =20+50;
7€, =25+30,°
TC, =15+40;
TC, =20+60

TC is in hundreds of dollars, and  is in cartons per month picked and shipped. '

(1) If the cartel decided to ship 10 cartons per month and set a price of $25 per carton, how should
output be allocated among the firms?

(2) At this shipping level, which firm has the most incentive to cheat? Why?

2. Assume that in 2008, the following prevails in the Republic of Nurd:
Y=$200, C=$160, S=8$40, I(planned)=$40, G=5$20. T=3%$0
Assume that households consume 80 percent of their income, they save 20 percent of their income, they
save 20 percent of their income, MPC=0.8, and MPS=0.2. That is, C=0.8Y and S=0.2 Y.

(1) If $200 is the “full-employment” level of Y, what fiscal policy might the government follow if its goal
is full employment?

(2) Now suppose the government starts spending $50(G=$50) each year with no taxation and continue to
spend $50 every period. If I remains constant, what will happen to the equilibrium level of Nurd’s
domestic product(Y)? what will the new levels of C and S be?

(3) Now suppose the government starts taxing the population $30 each year with spending $20(G=$20)
and continues to tax at that rate every period. If I remains constant, what will happen to the

equilibrium level of Nurd’s domestic product(Y)? What will be the new levels of C and S?
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